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16. Which of the following policy choices represents
a combination of fiscal and monetary policies
designed to bring the economy out of a recession?

(A) Decreasing both taxes and the money supply

(B) Increasing both taxes and the money supply

(C) Increasing government spending and
decreasing the federal funds rate

(D) Increasing both taxes and the discount rate

(E) Engaging in deficit spending and government
bond sales
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16. Which of the following will lead to a decrease
in a nation’s money supply?

(A) A decrease in income tax rates

(B) A decrease in the discount rate

(C) An open market purchase of government
securiies by the central bank

(D) An increase in reserve requirements

(E) Anincrease in government expenditures
on goods and services
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23. In the short run, an expansionary monetary policy
‘would most likely result in which of the following
changes in the price level and real gross domestic
product (GDP) ?

PriceLevel  Real GDP.

(A) Decrease Increase
(B) Nochange ~ Decrease.
(C) Increase No change
(D) Increase Decrease.

(E) Increase Increase
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40. A commercial bank’s ability to create money
depends on which of the following?

(A) The existence of a central bank

(B) A fractional reserve banking system

(C) Gold or silver reserves backing up the
currency

(D) A large national debt

(E) The existence of both checking accounts
and savings accounts
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46. Assume that the required reserve ratio is
10 percent, banks keep no excess reserves,
and borrowers deposit all loans made by banks.
Suppose you have saved $100 in cash at home
and decide to deposit it in your checking account.
As aresult of your deposit, the money supply can
increase by a maximum of

(A) $800
(B) 900
(©) 51,000
(D) $1,100
(E) $1.200
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29. If a country’s economy is operating below the
full-employment level of output at a very low
inflation rate, the central bank of the country is
most likely to

(A) pursue an expansionary monetary policy
because it is required to do so by law
‘whenever output is below the full-
employment level

(B) pursue an expansionary fiscal policy because
itis required to do so by law whenever
output is below the full-employment level

(C) lower the discount rate and buy bonds on the
‘open market to generate an increase in
output

(D) lower the required reserve ratio and sell
‘bonds on the open market to generate an
increase in output

(E) raise the discount rate and lower the required
reserve ratio to generate an increase in
output
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24. A reduction in inflation can best be achieved by
‘which of the following combinations of fiscal and
monetary policy?

Fiscal Policy. Monetary Policy

(A) Increase taxes Sell government
bonds

(B) Decrease taxes Buy government
bonds

(C) Decrease taxes Lower margin
requirements.

(D) Decrease government  Lower discount rate
spending

(E) Increase government  Raise discount rate
spending
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13. Which Federal Reserve action can shift the
aggregate demand curve to the left?

(A) Lowering the federal funds rate

(B) Lowering income taxes

(C) Lowering reserve requirements

(D) Raising the discount rate

(E) Raising government spending on national
defense
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6. If an economy is operating with significant
unemployment, an increase in which of the
following will most likely cause employment
toincrease and the interest rate to decrease?

(A) Purchases of government bonds by the
central bank

(B) Transfer payments

(C) Reserve requirements

(D) Government expenditures

(E) Investment in basic infrastructure
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31. Suppose that the Federal Reserve buys
$400 billion worth of government securities
from the public. If the required reserve ratio is
20 percent, the maximum increase in the money
supply is
(A) $1.600
(B) $1.800 bill
(©) 52000
(D) 52200
(E) $2.400 bill

888838
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56. Assume that the reserve requirement is
20 percent, but banks voluntarily keep some
excess reserves. A $1 million increase in new
reserves will result in

(A) an increase in the money supply of $5 million

(B) an increase in the money supply of less than
5 million

(C) a decrease in the moriey supply of $1 million

(D) a decrease in the money supply of $5 million

(E) a decrease in the money supply of more than
$5 million
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40. Assume that the economy is at full employment.
Policymakers wish to maintain the price level but
want to encourage greater investment. Which of
the following combinations of monetary and fiscal
policies would best achieve this goal?

Monetary Policy Fiscal Policy.
(A) No change Contractionary
(B) Expansionary No change
(C) Expansionary Contractionary
(D) Expansionary Expansionary

(E) Contractionary Expansionary
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39. When an economy is operating below the full
employment level of output, an appropriate
‘monetary policy would be to increase which of
the following?

(A) The discount rate

(B) The required reserve ratio

(C) The international value of the dollar

(D) Open market purchases of government bonds

(E) Goverment expenditure on goods and
services




